
Do you remember how to form questions? (see questions) Then you will
remember that we have four types:

1) Va + S + Vp + O + C?
2) S + Vp + O + C, Va [with the opposite sense +/- than in the main

part] + S [pronoun] + ?
3) Q + Va + S + Vp + [O + C] + ?
4) Q + Vp + O + C + ?

For types 1 and 2 we form the answer in this way:
Yes/no + subject (pronoun) + VA [+ not, if the sense is negative]

Thus: Will you study tomorrow?
Yes, I will
No, I will not (won't)

Did you work yesterday?
Yes, I did
No, I did not (didn't)

Does he live in Catania?
Yes, he does
No, he does not (doesn't)

For type 3 questions the form of the answer is:
S + VP + [the object or the complement that is missing)

Thus:
Where did he go yesterday?

He went to Rome yesterday
When will they return?

They will return at half past five
Who does he work with?

He works with Mark
Why did she go to Palermo?

She went to Palermo to work
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